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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 81
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Log-Log plot of_diffefrehti'al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the siope is greater than unity)
H Transect: Drillhole 81
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

H Transect : Drillhole 81
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Relationship between steady-state differential pressures squared and rowrate
If relationship is linear, with-the ordinate intercept nearly zero,
“~there is no high velocity flow effect.
H Transect: Drillhole 82
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log1o(A(P?))

A(P?)IQ, psia’/(cc/min)

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 82
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: Final check for high velocity flow effects:
High velocity flow effects are-present when the.slope is non-zero and positive.
. H Transect : Drillhole 82
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 83
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Log-Log plot of differential pfessures squared vs. flowrate--used to identify the presence of
high-velocity flow effects“(when the slope is greater than unity)
H Transect: Drillhole 83
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 83
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 84
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 84
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_ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 84
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 85
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Log-Log plot of differential pressures squared VS. rowrate--used to identify the presence of
hlgh-velomty flow effects (wWhen the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the siope is non-zero and positive.
i H Transect : Drillhole 85
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero, ‘
~there is no high velocity flow effect.
H Transect: Drillhole 86
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"1 Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the siope is greater than unity)
H Transect: Drillhole 86
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Final check for high velocity flow effects:
High velocity flow effects are present when the stope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 87
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Log-Log plot of differenti_élAb'ressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: y
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 87
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Relationship betwe'én' steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
..there is no high velocity flow effect.
: ' H Transect: Drillhole 88
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 88
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_ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
N H Transect : Drillhole 88
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 89
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Log-Log plot of differential pfessures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the siope is greater than unity)
H Transect: Drillhole 89
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is hon-zero and positive.
H Transect : Drlllhole 89
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Relationship between s'teady-state differential pressures squared and flowrate:
if relationship is linear, with the ordinate mtercept nearly zero,
there is no hlgh velocity flow effect.
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High velocity flow effects are present when the slope is non-zero and

l |
s . Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
) high-velocity flow effects (when the slope is greater than unity)
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B Final check for high velocity flow effects:
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 91
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Log-Log plot of differential préssures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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i \ Final check for high velocity flow effects: 3
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 91
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
-~there is no high velocity flow effect.
H Transect: Drillhole 92
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 92
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7 __ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 93
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Log-Log plot of diﬁerential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: -
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 93
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero, '
“there is no high velocity flow effect.
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log1o(A(P?))

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 94
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 95
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects.(when the slope is greater than unity)
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A(P?), psia®

A(PY)/Q, psia®/(cc/min)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 95
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow éffect.
’ H Transect: Drillhole 96
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 96
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- Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 97
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
. H Transect: Drillhole 97

750

800

181
17 -
16 -

1.5

logo(A(P%)

1.4 -

1.3

1.2 |

1.1

< | >4], o, 6albRIon |
log1o(A(P?)) =(1.0542l0g,0(Q) - 1.2579|
' R?=0.9458

2.25

=T

2.50 2.55 2.60 2.65

log40(Q)

| O log(D(P2)) =Linear (log(D(P2))) = Linear (log(D(P2))) |

2.30 2.35 240 245 2.70 275 2.80

2.85

2.90




.
(o]
Final check for high velocity flow effects: .
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 97
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s Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
~-~.  H Transect: Drillhole 98
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- Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 98
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' Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 98
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 99
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“ s " Log-Log plot of differentia} pressures squared vs. flowrate--used to identify the presence of
‘ high-velocity flow effects (when the slope is greater than unity)
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A(P?)/Q, psia’/(cc/min)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 99
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,

there is no hlgh velocity flow efféct.

* H Transect: Drillhole 100
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Log-Log plot of differential pressufes squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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- Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and posmve
H Transect : Drillhole 100
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 101
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the présence of
high-velocity flow effects{when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 101
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero, :
“there is no high velocity flow effect.
) H Transect: Drillhole 102
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 102
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Final check for high velocity flow effects:
High velomty flow effects are present when the_slope is non-zero and positive.
H Transect : Drillhole 102
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 103
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (When the slope is 'greater than unity)
e H Transect: Drillhole 103
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 103
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
“~«there is no high velocity flow effect.
' H Transect: Drillhole 104
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 104
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: Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 105
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Log-Log plot of differential pressures squared vs. rowrate--usea to identify thé presence of
high-velocity flow effects (when the slope is greater than unity)
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1 Final check for high velocity flow effects:
| High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 105
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Relationship betweén steady-state differential pressures squared and flowrate:
" If relationship is linear, with the ordinate intgrcept nearly zero,
..there is no high velocity flow effect.

H Transect: Drillhole 106
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 106
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Final check for high velocity flow effects:
ngh velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 107

A(P?) = 0.0001Q% - 0.0296Q + 16.816

R? = 1

A(P?) = 6E-05Q° + 0.0493Q

r B

40 -

R?=0.9814 , =
. A(P?) = 0.089Q

R? = 0.936

A(P?) = 0.1009Q - 7.1571

R* = 0.9529 |

—

100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
Q, cc/min

| O D(P2) ==Poly. (D(P2)) ==Poly. (D(P2)) = Linear (D(P2)) = Linear (D(P2)) |

Log-Log plot of differential preésures squared vs. flowrate--used to identify the presence of

- high-velocity flow effects (yvhen the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 107
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Relationship between steady-state differential pressures squared and flowrate:
| "If relationship is linear, with_the ordinate inte[cept nearly zero,
: there is no high velocity flow effect.
| ~ H Transect: Drillhole 108
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 108
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Final check for high velocity flow effects:
ngh velocity flow effects are present when theslope is non-zero and positive.
"k H Transect : Drillhole 108
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinafte intercept nearly zero,
there is no high velocity flow effect. 1
H Transect: Drillhole 109 |
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects. (when the slope is greater than unity)
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A(P)IQ, psia’/(cc/min)

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 109
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
_ there is no high velocity flow effect.
H Transect: Drillhole 110
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 110
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» _ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowra
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 111
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Log-Log plot of differential pressures squared vs. rowrate--used to identify the presence of
hlgh-veIOCIty flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 111
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
~there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 112
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 113
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high-velogity flow effects (when the slope is greater than unity)
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. _ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 113
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Relationship between steady-state differential pressures squared and flowrate:
If relationship ?s linear, with the ordinate intercept nearly zero,
thére is no high velocity flow effect. -
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 114
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Final check for high velocity flow effects:
High velocity flow effects are present when the siope is non-zero and positive.
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